EARAZROREIERT — 2 N—XBISY —F 20171858 (K) 1@EIFL1H

IR >% 4%t 5007 F CRA) lgE) &8 (xwlw | lmEmml - |2 ) 2w 8
[A~&£] 1 7% :7,500,000  ~ 23 :3,000,000 337 :1,900,000F 43 :1,100,000 " ~ 5 & :750,000 9
B BB BERR Mk HE %F (FE) s4 L (G&ZE) | BBIER | EOF |SIEH | AS | AE | AU FIR) / BE / £EHS
5 # o6 | EHEARE 2:15.3 9-7-5-4 |35.9| 94.5 | 4 | 476 |BEHE _(EH)
1|5/9| YTxILTL X3 57.0 ) o) | B ¥5TLyEs5T 5747
RZFAT=NE Bih—ho—> OZEFT2-T7—L
ol7l13| @1 F4 1 #o4 | pEBE B 3-3-42 |36.1| 94.5 | 2 5?3) FEE K)
RV RYIYRIR 87 Lk it s
N : PSR # 5 g;?g#ﬁiﬁ 2(/1\%% 12-12-5-4 | 35.8| 94.5 | 13 | 484 ‘%E;ﬁf{(%;ﬁ)
kLYY ReE BAUGy KO-X “2 gm @
> f 4 | FlBEX 2:15.5  |10-10-10-10( 35.8 | 92.5 | 1 428 | ATIEE (Rid) X
4 A 4 Loz 54.0 (1 1/4) (+6) (B) ¥o7-L—->29
RiZFAT-NE B:YrvE—F—Z b /=¥ Tr—L
s HEFE : -15-15- =FE (RE
517114| 71/ BTNy o5 | B 2(/1\57L)5 16-15-15-14| 35.4 | 92.4 | 8 (ﬁg) %ﬁﬁ (i)
:4z=/F¥ Ly b BUNTEAZN-F HET7— L4
cBY5| 7—-b7z2% # 6 | XEER B0 8759 |®.2| 916 | 10 | 516 | FMB Ge)
LewrsnJoq BiY 77— (1) e
=+ . 55 g i
‘1| @%F—7+ - 7€z [B] H 5 5:}_E%$A 2(/1\%3 555-4 [36.2(91.6 | 6 (4;4) EI%(;)IEJIJ*EL%)?Z#\?Z
XL THANIIN B H S RIN— hF— #HET7—L4
g L I CTON 2:15.7 10-10-10-10| 36.0 | 90.5 | 12 | 450 | &M&EEHE (i)
81510 féibh#‘?b . . 57.0 (3/4) (-2) ﬁﬁ)é%?)?f—ﬁ?jvaR
AFAT-ILE BYHY Y — 1R
9lglig| ¥TERAVaNYT #H 5 »fg#ﬁk 2715t§a 1-1-1-1 | 36.9| 89.8 | 5 502 *?ﬁfféffl crog sy
NMVTTY BivAxRY—-X (#2) EviLy RT77—L4
ol 5225 N R E CO R R e
RiFA—TANT N Bi¥a— (B) #BIA-—KL—ya>aETr
1l 77=¢ Ho4 %I_JSEE— 2(7151:? 15-15-15-14| 35.8 | 88.4 | 3 (4_246) %%?E}(fj@lﬁ;yj
LZFAT=IR BiYy—NRZIyY J=YTy—L
oEle | NLTE Y- 4 gg‘gfg*ﬁk %;st? 5554 |36.5|8.7 | 9 | 458 §§§§$ (E#)
LN=VITA BATA R — s %8 | migais
M DA v H o4 E%EIOIEA@ 2:(116).1 2-2-2-4 |37.0| 87.0 | 11 | 482 qﬂ(ﬁ)ﬁéi;a{(%iﬁ)
SFR L THAANAIN BNV TZTD 9T (#2) Fril#os
w57 s—ys (8] 4% o4 | BEAR 2(:11/62.>2 3-32-2 [87.1|86.1 | 15 (i?f)) “ini;)*gﬁu Eg(fff)_j»
L:F LNz Tt BiF g R RBIS
. 5 . —19-1( SEKE j
511 2|w1T—281 H o4 %g';{%itﬂﬁ (21136/45> 12-12-10-10| 36.8 | 83.0 | 16 (4_644) .ﬁ)ﬂ?{(%ﬁ)
LT —=TZhA B:TIAT73UT BHHREKRXSHIVRI NS
16l8l15/ 279> —=72 [B] # 5 g';?%*ﬂlz 2:(187).8 7-7-10-14 | 38.1 | 72.2 | 14 (i}i) ?%;';):7%?)/
R:ZFAT—ILK B:227 TARS
@ X1L4A
a0 48.4-36.4
NA> 24 L | 12.6-11.9-12.7-12.8-12.4-12.1-12.4-12.0-11.9-12.1-12.4
@ 11— —&EBIRfL
1 Z=7r= 16-12(7,13) (6,11)15,5,9(4,10) (2,8)3,1,14
2a=7r= 16-12(7,13) (6,11) (5,15,9) (4,10) (2,8)3-(1,14)
d=zr= 16(12,7)13(5,6,11,9,8) (4,15,2,10)3(1,14)
43—7F— | 16(7,13)(12,6,11,9,8)5(4,2,10)3(1,15,14)
0 ILRE
BB 9 1,020 | | 74 K 9-13 520/ P& 5-7 1,020 3HER 8-9-13 24,890M
7 B 9 250 8-9 6,450H 5= 9-13 1,310H 3EE 9-13-8 146,430
13 140 8-13 2,640 BB 9-13 3,380M
8 1,000

ABICOVWTRDTEEERROODE. TR LIV,



